Solving Trig Equations
Review




1. What are all of the solutions to 5sinx = 3sinxX + \ 37
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2. What are the solutions of 2cos’x + cosx —1=0 when #¢€[0,27) ?
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2. What are the solutions of 2cos’x + cosx —1=0 when #¢€[0,27) ?
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3. Use a trig identity to solve 4sin’x + 4cosx —5=0 when /<[0, 27)
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3. Use a trig identity to solve 4sin’x +4cosx —5=0 when 4€[0, 27)
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4. Solve the equation in the inveral [0, 21).

sin(3¢) = —1
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5. Solve the equation in the inveral [0, 21).
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6. Solve the equation in the inveral [0, 21).

cos2x + 5cosxy +3=0
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6. Solve the equation in the inveral [0, 21).

cos2x + 5cosxy +3=0
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7. Solve the equation in the inveral [0, 21T).

cos( SJL’)COS(X) et sin(Sx)sin(x) = lz—z
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